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288 3HCLO 5:17:1!:_ AKERIT 1,297,959 85 31,951 2 0 0 0 0 56,000 56,000
(#a—/\—2016) =1t RERIET 658,966 40 18,754 1 0 0 0 0 24,000 24,000
ARIEAEE 2,821,732 113 38,896 1 0 0 19,445 1 84,000 64,555
MEHERHEE 306,844 26 0 0 0 0 0 0 24,000 24,000
ELERAEE 491,044 45 0 0 0 0 0 0 35,000 35,000
ERIEAEE 636,480 38 37,508 1 0 0 0 0 37,000 37,000
KIRIERAEE 329,008 40 0 0 0 0 0 0 17,000 17,000
KFEHAEE 614,412 56 0 0 0 0 0 0 21,000 21,000
EHEERES 875.828 75 0 0 0 0 0 0 30,000 30,000
&t 8,032,273 518 127,109 5 0 0 19,445 1 328,000 —
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294 3HCLO Xt E+HEET 330,000 8 0 0 0 0 0 0 56,000 56,000
(#a—s3—2017) kX =+t BKEBIT 2,140,000 83 0 0 0 0 0 0 80,000 80,000
kXS4t (BEERIT 1,049,000 50 0 0 0 0 0 0 29,000 29,000
kXSt RBAREBIT 1,464,000 48 0 0 0 0 0 0 43,000 43,000
kXSt AL EERTT 4,304,000 117 0 0 0 0 0 0 167,000 167,000
H#AEHt EEPRIET 1,322,000 85 0 0 0 0 0 0 60,000 60,000
REEEREE 479,000 31 0 0 0 0 0 0 22,000 22,000
HHERAEE 855,000 54 0 0 0 0 0 0 21,000 21,000
AREAEE 4,862,000 125 0 0 0 0 0 0 110,000 110,000
BEHEREE 414,000 25 0 0 0 0 0 0 22,000 22,000
EEREE 931,000 55 0 0 0 0 0 0 30,000 30,000
EREAEE 1,300,000 36 0 0 0 0 0 0 73,000 73,000
KRIERAEE 975,000 59 0 0 0 0 0 0 37,000 37,000
KT/ EREE 786,000 35 0 0 0 0 0 0 29,000 29,000
IEREREE 830,000 46 0 0 0 0 0 0 24,000 24,000
APEERAEE 987,000 34 0 0 0 0 0 0 43,000 43,000
EIRIERAEE 438,000 18 0 0 0 0 0 0 36,000 36,000
RERERHESE 2,252,000 109 0 0 0 0 0 0 63,000 63,000

&Et 25,718,000 1018 0 0 0 0 0 0 945,000 —

*REELF ELOSREBOSHEBEEEZNCEIHEARROBIERREET.
*2: JLOYM RN HEEL TORLMEEZIET .
*3: JL DY ARUIDEE LI BHEEET .




